

Department of Education

CORDILLERA ADMINISTRATIVE REGION SCHOOLS DIVISION OF BAGUIO CITY

NOTICE OF AWARD

June 3, 2024

KONSULTA MEDICA AND DIAGNOSTIC CENTER

Maharlika Livelihood Complex Baguio City

Dear Sir/Ma'am:

We are pleased to notify you that your price quotation and proposal for the procurement of **Procurement to Conduct the Annual Physical Examination** in the amount of PHILIPPINE PESO, **Two Hundred Twenty One Thousand Eight Hundred Eighty Pesos Only († 221,880.00)** inclusive of appropriate taxes and fees.

Should you agree with the award of the contract, please acknowledge receipt and acceptance of this notice by signing at the portion provided below. Keep a copy and return the original copy to this office at the soonest.

Thank you.

Very truly yours,

SORAYA T. FACULO PhD. CESO VI

Assistant Schools Division Superintendent Officer-In-Charge

Office of the Schools Division Superintendent

Conforme:

DRES DUCUSIN JR

6/4/24

(Date)







Address: 82 Military Cutoff Rd, Baguio, Benguet, 2600 Telephone No.: (074) 665-1231

Telephone No.: (074) 665-1231 Email Address: baguio.city@deped.gov.ph

PURCHASE ORDER

DepEd, Division of Baguio

Supplier Address TIN:	Address Maharlika Livehood, Complex			P.O. No. 2024-05-085 Date: June 4, 2024		
Gentlemen: Mode of				urement:	Small Value Procurement	
Please fur	nish this Office the	following articles subject to the terms and conditions contained herei	in:	en, hogestovik	1.0010 217.01	
Place of D	elivery:	DepEd, Division Office Baguio		: June 6-8 & 10,	2024	
Date of De		June 6-8 & 10, 2024		n : after delivery	2024	
Stock No		Description	Quantity	Unit Cost	Amount	
1	Pax	Lipid profile (cholesterol, triglyceride, (HDL/LDL)	129	600.00	77,400.00	
2	Pax	Fasting blood sugar	129	100.00	12,900.00	
3	Pax	Uric acid	129	135.00	17,415.00	
4	Pax	Creatinine/BUN	129	135.00	17,415.00	
5	Pax	SGOT	129	135.00	17,415.00	
6	Pax	SGPT	129	135.00	17,415.00	
7	Pax	Complete blood count	129	110.00	14,190.00	
8	Pax	Urinalysis	129	40.00	5,160.00	
9	Pax	Chest X-ray	129	180.00	23,220.00	
10	Pax	ECG	129	150.00	19,350.00	
				100.00	19,330.00	
		COMMISSION ON AL	UDIT			
		Office of the Au	ditor			
		Dep-ed, Division of	Baguio	No.		
		NECESSARIA DE LA CONTRACTA DEL CONTRACTA DE LA	Total Control of the	10 19		
		Monre 6151 mm				
		The state of the s				
		PAGUTO GITT	7 Sand			
		Procurement to Conduct the Annual Physical Ex	kamination			
		• 17.5	THE PARTY OF THE P			
Total Amou	nt in Words: Two h	Hundred Twenty One Thousand Eight Hundred Eighty Pesos		TOTAL	221,880.00	
In case of	of failure to make the	full delivery within the time specified above, a penalty of one-tenth (1/10) of or		The sales of	Tot Colden	
	onforme:	ANDRES C. PUCUSIN JR		y or delay shall be im	posed on the	
		KONSULTA MEDICA AND DIAGNOSTIC CENTER	-		,	
		nor i i i i i i i i i i i i i i i i i i i	SORAY	A T. FACULO PHO	CESOVI	
		Glot /24		ls Division Superir		
		Date		- Superii	iterident	
		1	section of 8	CCLA PITE AND	120 01/07/03	
Fund Clust			ORS/BURS No	: 06 -0	oblo	
Funds Avai	ilable :	177/80. W	Date of the ORS	BURS:	6/10/2024	
		and the state of t	Amount:	121,800.00	egiot exer	
		LILI GATO G. DEGSI Accountant III	au ven br mos.eom	egeb® va <u>a oluo</u> enichegebware	o diam-3 Vension	
		1 1 2 C 2 C 2 C 2 C 2 C 2 C 2 C 2 C 2 C	SPRI			
	auey adi udiyadi	arti setted dog svies ou doubled in 1885 54\/				
		No. 1. part Constituted From State Constitute Constitut			actorism and	
		JUN 1 0 2022	gyanhalmotul			
		Specification and the second s				
		BUDGET				
		By: Time:	TO THE BOTH THE PROPERTY AND A THE PROPERTY OF			

ANDRES C DUCUSIN JR CONFORME: PRESIDENT (Signature Over Printled Name)

(Date)











Department of Education

Cordillera Administrative Region SCHOOLS DIVISION OF BAGUIO CITY

NOTICE TO PROCEED

June 5, 2024

KONSULTA MEDICA AND DIAGNOSTIC CENTER

Maharlika Livelihood Complex Baguio City

Dear Sir/Ma'am:

This refers to our award of contract to your company for proposal for the procurement of Procurement to Conduct the Annual Physical Examination in the amount of PHILIPPINE PESO, Two Hundred Twenty One Thousand Eight Hundred Eighty Pesos Only (\$\bar{P}\$ 221,880.00) inclusive of appropriate taxes and fees.

In relation thereto, notice is hereby given to your company that the implementation of the said project shall commence immediately. You are expected to perform the terms and conditions stipulated in the attached contract.

Please acknowledge receipt and acceptance of this notice by signing at the portion provided below of both copies. Keep one copy and return the other to this office at the soonest.

Thank you.

Very truly yours,

SORAYA T. FACULO PhD, CESO VI

Assistant Schools Division Superintendent

Office-in-Charge

Office of the Schools Division Superintendent

CONFORME:

ANDRES COUCUSIN JR

PRESIDENT (Signature Over Printed Name)

6/07 m

(Date)







Address: 82 Military Cutoff Rd, Baguio, Benguet, 2600 Telephone No.: (074) 665-1231

Email Address: baguio.city@deped.gov.ph

V/ACT	is bere	0) 3//6	r au Sunau peront seeral unu seupu eur ur	NAME OF SUPPLIER	NAME OF SUPPLIER 2	NAME OF SUPPLIER 3	NAME OF SUPPLIER 4	NAME OF SUPPLIER 5
ІТЕМ	UNIT	QTY	DESCRIPTION AND/OR SPECIFICATION	DRUG CHECK PHLIPPINES INC.	KONSULTA MEDICA AND DIAGNOSTIC CENTER	RMS Inc.	ACARE MED. CORPORATION	MEDISENSE LABORATORY CENTER, INC.
1	Pax		Lipid profile (cholesterol, triglyceride, (HDL/LDL)	30,960.00	77,400.00	62,565.00	77,400.00	59,985.00
2	Pax		Fasting blood sugar	7,740.00	12,900.00	17,157.00	9,675.00	25,800.00
3	Pax	129	Uric acid	7,740.00	17,415.00	20,640.00	9,675.00	12,900.00
4	Pax	129	Creatinine/BUN	15,480.00	17,415.00	17,415.00	19,350.00	21,930.00
5	Pax	129	SGOT	7,740.00	17,415.00	18,705.00	12,900.00	14,190.00
6	Pax	129	SGPT	7,740.00	17,415.00	18,705.00	12,900.00	14,190.00
7	Pax	129	Complete blood count	6,450.00	14,190.00	22,575.00	23,230.00	19,350.00
8	Pax	129	Urinalysis	6,450.00	5,160.00	7,095.00	6,450.00	11,610.00
9	Pax	129	chest X-ray	38,700.00	23,220.00	14,835.00	25,800.00	29,025.00
10	Pax	129	ECG	29,670.00	19,350.00	22,575.00	25,800.00	28,380.00
	V.Z.		THE CONTRACTOR OF THE CONTRACT					
			Nothing Follows					
			TOTAL	158,670.00	221,880.00	222,267.00	223,180.00	237,360.00

We hereby certify that the bids or qoutations received were opened at the date prices offered as stated above.

BAC Members: Digitally signed by Niño

Tibangay Date: 2024.06.04 14:07:53

NIÑO M. TIBANGAY

ATTY. ANNETTE L. DOYAEN

NIEVES D. EBANIO

Member

BAC Vice-Chariperson

/Member 66/60

Digitally signed by Mary Jane M. Malihod
Date: 2024.06.04.14.07:34 +08'00'

MARY JANE M. MALTHOD

Canvasser

Member

HARRIS G. DIZON JR.

Member

Digitally signed by Marilyn S. Api-it Date: 2024.06.04 14:07:15 +08'00'

MARILYN S. API-IT

Member

Award is hereby given to the bidder with prices quoted being the lowest and the most advantageous to the government. Subject for Post Qualification.

CARMEL F. MERIS
BAC CHAIRPERSON



Department of Education

Cordillera Administrative Region SCHOOLS DIVISION OF BAGUIO CITY

RESOLUTION NO. 88, S. 2024

RECOMMENDING THE AWARD OF CONTRACT THROUGH ALTERNATIVE METHOD OF PROCUREMENT -SMALL VALUE PROCUREMENT TO KONSULTA MEDICA AND DIAGNOSTIC CENTER

WHEREAS the Department of Education prepared the Purchase Request (PR) for the Procurement to Conduct the Annual Physical Examination with an Approved Budget for the Contract (ABC) of Two Hundred Forty Three Thousand Nine Hundred Thirty Pesos Only (P 243.930.00) (Annex A);

WHEREAS on March 7, 2024 the DepEd - Bids and Awards Committee (BAC) posted/published the Request for Quotation (RFQ) for the said procurement project. The following suppliers/contractors signified their intent to participate by submitting their respective quotations/proposals, to wit:

Supplier/Distributors	Quotation (Php)
DRUG CHECK PHILIPPINES INC.	P 158,670.00
KONSULTA MEDICA AND DIAGNOSTIC CENTER	₱ 221,880.00
RMS INC.	₱ 222,267.00
ACARE MED. CORPORATION	₱ 223,180.00
MEDISENSE LABORATORY CENTER, INC.	₱ 237,360.00

WHEREAS per evaluation, below are non-compliant with the specification set forth in the TOR:

Supplier/Distributors	Non-Compliance		
DRUG CHECK PHILIPPINES INC.	Non-responsive due to failure to deliver		
PLUPOTER ORGANITE TO POWER ACT	the service on a flexible schedule		

WHEREAS the proposal of KONSULTA MEDICA is found to be the most compliant with the PR, and its price quotation amounting to Two Hundred Twenty One Thousand Eight Hundred Eighty Pesos Only (P 221,880.00) is the amount economical and advantageous to the Government, thereby the same as the lowest calculated responsive bid;

WHEREAS, Section 12 of R.A. No. 9184 mandates that the BAC shall recommend the award of the contract to the Head of the Procuring Entity or his/her duly authorized representative.

NOW THEREFORE, for and in consideration of the foregoing, We, the Members of the Bids and Awards Committee, hereby RECOMMEND to the Schools Division Superintendent the AWARD OF CONTRACT via Alternative Method of Procurement - Small Value Procurement to KONSULTA MEDICA for the Procurement to Conduct the Annual Physical Examination in the amount of Two Hundred Twenty One Thousand Eight Hundred Eighty Pesos Only (P 221,880.00) inclusive of appropriate taxes and fees.

RESOLVED, this 3rd day of June 2024, Baguio Division Office Conference Hall, Baguio City.

BAC Member

CARMEL F MERIS

BAC Charperson Digitally signed by Niño Tibangay Date: 2024.06.04 14:08:53 +08'00'

NINO TIBANGAY BAC Vice-Chairperson

ATTY. ANNETTE L. DOYAGEN

MARY JANE M. MALIHOD **BAC** Member

NIEVES D. EBANIO

HARRIS G. DIZON JR.

BAC Member

BAC Member

Digitally signed by Mary Jane M. Malihod

Digitally signed by Marilyn S. Api-500

MARILYN S. API-IT

BAC Member

APPROVED:

SORAYA T. FACULO, PhD, CESO VI

Assistant Schools Division Superintendent

Officer-in-Charge

Office of the Schools Division Superintendent

Approved on

DenED MATATAG





Address: 82 Military Cutoff Rd, Baguio, Benguet, 2600 Telephone No.: (074) 665-1231 Email Address: baguio.city@deped.gov.ph DepEd Tayo Baquio City



Department of Education

Cordillera Administrative Region SCHOOLS DIVISION OF BAGUIO CITY

RESOLUTION NO. 048 s. 2024 RESOLUTION RESORTING TO ALTERNATIVE MODE OF PROCUREMENT

WHEREAS the BAC received a request for the "Procurement to Conduct the Annual Physical Examination" with an Approved Budget for the Contract (ABC) of <u>Two Hundred</u> Forty Three Thousand Nine Hundred Thirty Pesos Only (P 243,930.00) (Annex A);

WHEREAS the 2016 Revised Implementing Rules and Regulations (IRR) of Republic Act 9184 mandates that all procurement shall be done through competitive bidding;

WHEREAS the same IRR of RA 9184 provides for exemption under Rule XVI – Alternative Methods of Procurement;

WHEREAS pursuant to Section 48 of the afore-cited Rule, the Department of Education – Division of Baguio City (DO) may resort to the alternative method of procurement – **Small Value Procurement** to promote economy and efficiency if the amount involved does not exceed the threshold prescribed in Annex "H" of the IRR and does not fall under shopping in Section 52 of this IRR;

NOW THEREFORE, We, the Members of the Bids and Awards Committee, do hereby RESOLVED as it is hereby RESOLVED, to resort to the alternative method of procurement – **Small Value Procurement** for the procurement to conduct the "**Annual Physical Examination**";

RESOLVED FINALLY, to post this Resolution at the DO Website, PhilGEPS (if Php 50,000.00 and above), and other conspicuous place at the premises of the DO.

February 23, 2024, Baguio Division Office Conference Hall, Baguio City.

BAC Chairperson

NIÑO TIBANGAY BAC Vice-Chairperson

NIEVES D. EBANIO

BAC Member

ATTY. ANNETTE L. DOYAGEN

BAC Member

MARY JANE M. MALIHOD

BAC Member

HARRIS G. DIZON JR.

BAC Member

MARILYN S. API-IT

BAC Member

APPROVED:

SORAYA T. FACULO, PhD, CESO VI

Assistant Schools Division Superintendent

Officer-in-Charge

Office of the Schools Division Superintendent

Approved on _

(date of approval)



